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LCSf

TREBFEDKIE (1)

thil» TDtwiss parameter: B =0.038 m, ,=0.010 m, a,=0.0, a,=0.0
i ¥ C Dtwiss parameter: B,,=3.4281 m, B,,=2.0 m, a,(=0.0, a,,=0.0

PO 45 B A A DKIE - HllPE %L (K = B’L/Bp [m1])

Al:L,,=0.7m
A2: L,,=0.6m
A3: L,,=0.5m
A4: L,,=0.4m
A5: L,,=0.3m
A6: L,,=0.2m

L, 2 INECT B E. 1, Q2, Q3DKIEAE X BIERIZ5H 5.

Ko
9.0383130

9.3975836
9.8220883
6.3315802
6.95415951
1.7298912

Kq2
—-2.1720558

—-2.3200825
—2.5038306
—2.73959275
—-3.0558954
-3.5101353

Kaz
2.8206848

2.9450277
3.1009853
3.3035246
3.5795671
3.9837395

Kag
-2.8177384

—-2.8222864
—2.8228983
—-2.8168515
—2.7995366
—2.7631456



LCSf

TREBFEDKIE (2)

BIRICEDHIR (K< 5)ZMATHS,

Bl TDtwiss parameter: B,=0.038 m, ,=0.010 m, 0,=0.0, a,=0.0
i ¥ T Dtwiss parameter: B, B,o A &, 0,4=0.0, 0,,=0.0

LB B A DKIE:K<5(K=B’L/Bp [m1])

Al
A2
A3
A4
A5
A6

: L,,=0.7m
: L,,=0.6m
: L,,=0.5m
: L,,=0.4m
: 1,,=0.3m
: L,,=0.2m

Kaa
4.9999959

4.9999878
4.9999314
4.9999994
4.9999959
4.9998519

Kq2
—-2.1713004

—2.1949430
—2.2203553
—-2.2462713
—2.2693195
—-3.3572658

Kaz
2.8212314

2.9084610
3.1309068
3.3939505
3.6532954
4.0590077

LIS B E. Q2, Q3DKIEA X BHERIZH 5.

Kag
-2.8159166

—2.8544422
—2.9022690
—-2.9628148
—-3.0411456
—2.6399260



LCSEZEERA T T4 X (1)

(1) Al (2) A2 (3) A3

Q2-Q3f# L,;=0.7m Q2-Q3f# L,;=0.6m Q2-Q3f# L,;=0.5m
Q1-Q2, Q3-Q4fH 0.2m Q1-Q2, Q3-Q4fH 0.2m Q1-Q2, Q3-Q4fE 0.2m

100[F

~. 80l

E
— B0

Y 1 R 5 o gz‘s(m)s'uiué
B,=3-4934 m, B,,=2.0551 m Byo=4.3265m, 3,,=1.8898 m Byo=5-5024 m, B,,=1.6915 m
,,=0.0, a,,=0.0 ,,=0.0, a,,=0.0 a,,=0.0, 0,,=0.0
Yx=0.2863 m, y ,=0.4866 m™! ¥x0=0.2311 m?, y,;=0.5292 m™! V,0=0.1817 m, y,(=0.5912 m!
K{E[m™] K{E[m™] KfE[m]

Q4 —-2.815917 Q4 —2.854442 Q4 —2.902269

Q3 2.821231 Q3 2.958461 Q3 3.130907

Q2 —-2.171300 Q2 —2.194943 Q2 —2.220355

Q1 4.999996 QT 4.999988 QT 4.999931

Ql-EHREAFTODIERE:2.6m Ql-EERRAFTOEERE: 2.5m Ql-ERAFTODIERE:2.4m



LCSTEZEERA T T4 X (2)

(4) A4 (5) A5 (6) A6
Q2-Q3fH] L23=O.4m Q2-Q3fH L23=O.3m Q2-Q3fH L23=O.2m

Q1-Q2, Q3-Q4fd 0.2m Q1-Q2, Q3-Q4fd 0.2m Q1-Q2, Q3-Q4fd 0.2m

GOL

400

B B, (m)

200

Z = e AV |
U 1 2‘S (m)é 7 5 0 1 Z () 3 7 T %(m) "
Bw=7.2397 m, B ;=1.4537 m Bx=9.9665 m, B,=1.1677 m B,=10.0 m, B, ,=6.4071 m
a,0=0.0, a,(=0.0 a,0=0.0, a,(=0.0 0,0,=0.0, 0,x=0.0
¥x0=0.1381 m?, y,;=0.6879 m™ ¥x=0.1003 m, y, ;=0.8564 m™ ¥x0=0.1 m?,y =0.1561 m™
KiE[m™] Ki[m] KA [m-"]
Q4 -2.962815 Q4 -3.041146 Q4 —2.639926
Q3 3.353951 Q3 3.653295 Q3 4.059008
Q2 —2.246271 Q2 -2.269320 Q2 -3.357266
Q1 4999999 Q1 4999996 Q1 4999852

Ql-EHEHFETHDIERH:2.3m Ql-EZERFETODEEE:2.2m Ql-EFZERFETODHEEE:2.1m



E— LY A X (1 REREITH)

IR DEREITINKDE—LHYAX
Ox = R, ,0x, + R ,0x],

dy = R;;0y, + R,,0y;,

()'x(l) = <(Sx2> = \/{R1 12<(Sx02> + R122<5x62> - 2R11R12<5x0(5x6 >}
= \/anﬁxo + R122on -2 R R, €,

Gy(l) = <5y2> = \/R332/3)y0 + R3427y0 -2 R33R34ayo' €50



BINEDEE

2REREITHC KD BUNE

0 0
ox = Tj,60x, L4 Tip00x, — £
p
op op
0y = T340y — + T3450%) —
O
Y = \/71162@0 + 712627@0 =2 T16T 1560 " €, ?p
O

2) 2 2 . . ._P
= \/T336 ﬁyo + Ty Y50 -2 T336T346ay0 €50 D

2 2
_ (1) (2)
Oy = \/(Gx’y ) T (O-x,y )

QRETHDEEITHICKDE — LY AXELZaL—L a3V ERLED,




2 RMDERIEITHI (1)

110y TDtwiss parameter: B,,=0.038 m, Byo=0.010 m, a,,=0.0, a,,=0.0
i 4 C Dtwiss parameter: B,,=3.4281 m, B,=2.0 m, 0,,=0.0, a,,=0.0

PR E R A OKIE : FlfR7xL

Al:L,,=0.7m
A2: L,,=0.6m
A3: L,,=0.5m
A4: L,,=0.4m
A5: L,,=0.3m
A6: L,,=0.2m

L AN B Ty T SREL S,

T116
-25.4429

-26.4443
-27.5793
-28.8654
-30.3121
-31.9010

T126
0.8522

0.2711
-0.3605
-1.0532
-1.8179
-2.6626

T336
8.9556

9.2895
9.7201
10.2988
11.1154
12.3339

T364
4.7940

4.7447
4.7265
4.7562
4.8629
5.0993



2 RMDERIXITHI(2)

By T Dtwiss parameter: B,;=0.038 m, B, ;=0.010 m, 0,;=0.0, a,,=0.0
i dim T Dtwiss parameter: B, B A K, a,,=0.0, a,(=0.0
PO 45 BB A DKAE K < 5

T116 T126 T336 T346
Al:L,,=0.7m  -25.2175 0.9241 8.8550 4.7658
A2:L,,=0.6m  -24.1937 0.9148 9.1778 4.8407
A3:L,,=0.5m  -23.1926 0.9043 9.6235 4.9662
Ad: L,=0.4m  -22.2207 0.8911 10.2656 5.1723
A5:L,,=0.3m  -21.2845 0.8724 11.2386 5.5138
A6:L,,=0.2m  -20.0015 1.2239 7.5718 3.8653

L EINSCTBE T, [FINEE B, B AKELLS,
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=]

2T EHIZLAEE (1)

LCSERI TN /NS A—41E
E =35.51MeV (v = 69.4942), ¢, =¢,,=0.3mmmrad, 0,= 3 ps

BEATOE—LYAX(P2aL—a iER)

ap/p=0.3% ap/p=1%

Bor Byo EITE o [um] o,lum] o [um] o,lum]
1 RERIEIT S 12.81 6.57 12.81 6.57

Al: L,,=0.7m 15.87 7.06 33.60 10.83
A2: L,,=0.6m 16.09 7.10 34.73 11.07
A3: L,,=0.5m 16.34 7.14 36.02 11.38
A4: L,,=0.4m 16.64 7.20 37.49 11.81
A5: L,,=0.3m 16.98 7.30 39.15 12.44
A6: L,,=0.2m 17.37 7.45 40.99 13.41

L AARENSASEEBEAY (E8) OEEZ/ISL,



=1
=]

=T EHZLAEE(2)

LCSERI TN /NS A—41E
E =35.51MeV (v = 69.4942), ¢, =¢,,=0.3mmmrad, 0,= 3 ps

BEATOE—LYAX(P2aL—a iER)

ap/p=0.3% ap/p=1%

K<5 o, lum] ay[um] o,lum] ay[um]
1 RERIEIT S 12.81 6.57 12.81 6.57
Al: L,,=0.7m 15.87 7.06 33.61 10.84
A2: L,,=0.6m 16.25 7.06 35.57 10.83
A3: L,,=0.5m 16.76 7.06 38.08 10.82
Ad: L,,=0.4m 17.46 7.06 41.44 10.83
A5: L,,=0.3m 18.49 7.07 46.10 10.87
A6: L,,=0.2m 17.94 7.59 43.62 14.22

LM REWAHEBELNY (EE) DZEIL /MLy,
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IYFT DOF (1)

QLR UFDTRDQAETT—IEERYFUTEED,
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IYFT D (2)
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IYF T D (3)
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Q2-Q3fEIFRREL, . AN KELNED A HFEXTRIZ /)N
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—IFENBETHNIL, Q2-Q3fEEEREE
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LCSHTE

(1) Z=EAL

Q2-Q3f&] 0.7m
Q1-Q2, Q3-Q4fE 0.2m
a,=0, a,=0

100
. 8oL
£
— 60|
>
40l

w20

ol -

By=3-4281m, B,,=2.0 m
,,=0.0, 0,,=0.0
Vx=0.2917 m-1, y,,=0.5 m-1

K{E[m-1] (SADD E %)

Q4 -2.81774
Q3 2.820685
Q2 —2.17545
Q1 2.087382

Ql-EHZE R ETHDIEEE:2.6m

1oo[
~ 8oL
E
— BOL
-

9 40l

*
w200

(1) ZEAY

Q2-Q3f& 0.7m
Q1-Q2, Q3-Q4fE 0.2m
a=1, a=+1

* e @?)
B=3.4281m, B=2.0m
a,,=-1.0, a,,=1.0
Yx0=0.2917 m-1, y,,=0.5 m-1

K{&[m-1] (SADD E

Q4 -2.763439
Q3 2.806767
Q2 —-2.300397
Q1 4.868829
Ql-EHZE A ETHDIREE:2.6m

TR AR ZE D5 (2)

(1;/) %Aln

Q2-Q3fd 0.7m
Q1-Q2, Q3-Q4fE 0.2m

a=+1, a,=-1

S s (m)
Byo=3.4281m, B,,=2.0 m

a,,=1.0, o 4=-1.0
Yx0=0.5834 m-1, y,,=1.0 m-1

K{&[m-1] (SADD E &

Q4 —9.207733
Q3 2.832603
Q2 —1.980807
Q1 9.207753

Ql-EHERFETHIERE: 2.6m



8. 8, (m)

LCSHTE

(3) EA4

Q2-Q3f& 0.2m
Q1-Q2, Q3-Q4fE 0.2m

5 (m)
B,0=10.0 m, B ,=6.4072 m
,,=0.0, a,,=0.0
Yx=0.1 m-1, y,,=0.1561 m-1

K{&[m-1] (SADD E &

Q4 —-2.639926
Q3 4.059008
Q2 -3.357266
Q1 4.999852

Ql-BHEAETOIER 2.1m

B,x=11.9403 m, B,,=8.9807 m
a,0=-9.0171, a,=-2.6590
V,0=6.8934 m-1, y,,=0.8986 m-1

TRERFE DA (3)

(4) EB1

Q2-Q3f& 0.25m
Q1-Q2, Q3-Q4fA 0.25m
BRAE DR KIEH100mMLLTF

(5) ZB2

Q2-Q3fH 0.25m
Q1-Q2, Q3-Q4fA 0.25m
BREAEI M KIEHA100mLL Lt

Y 1 z 3 4 5

s (m)
B,x=5.9524 m, B,,=0.7182 m

0,,=0.7209, at,,=1.8359
V,0=0-2553 m-1, y,,=6.0852 m-1

K{E[m-1] (SADD E ) K{E[m-1] (SADD E )

Q4(Q8) —-2.25767 Q4(Q8) —-2.98771
Q3(Q7) 3.6399511 Q3(Q7) 3.388876
Q2(Q6) -3.11304 Q2(Q6) —-1.42507
Q1(Qb5) 4.412806 Q1(Qb5) 1.154015

Ql-EZERFETHIEEE:2.25m Ql-EZEAFETCHDIERE:2.25m



2R DERIEITH

A1 (L,,=0.7m) -25.2175 0.9241 8.8550 4.7658
Al’ (O{x=-0£y=-1) -26.4301 0.3758 11.1456 5.6492
Al” (ax=-ay=+1) -24.2253 1.2907 7.5751 4.2593
Bl -20.4215 1.8465 7.4242 3.9510
B2 -28.8876 -2.5010 27.6211 11.0325
A2 (L23=0.2m) -20.0015 1.2239 7.5718 3.8653
A3 (L23=0.4m) -22.2207 0.8911 10.2656 5.1723
(0}

(2) 2 2 D

o, = \/7161 Beo+ T, Vo =2 T [, " €.0° ?

(0}

(2) _ 2 2 . . ._P
o, = \/T363 /3)70 + 136V 40 -2 L3 156,00 € »



BERTOE—LYAX(1)

LCSEATTD/NTA—H
E =35.51 MeV (yp =69.4942), ¢, =¢,,=0.3mm mrad, 0,= 3 ps

BUNEZL
Al (L,,=0.7m)

Al (o =-a,=-1)

A]_” (ax=_ay=+1)

B1
B2

A6 (L,,=0.2m)
A4 (L,,=0.4m)

o lum] (0,®)
12.81
15.87 (9.28)
16.06 (9.61)
15.69 (8.98)
18.28 (12.96)
18.85 (13.75)
17.94 (12.47)
17.46 (11.79)

o,lum] (o,\?)
6.57
7.06 (2.58)
7.01 (2.45)
7.13 (2.77)
8.31 (5.08)
7.05 (2.57)
7.59 (3.79)
7.06 (2.58)

o [um] (0,®)
12.81
33.60 (30.95)
34.59 (32.02)
32.65 (29.93)
45.20 (43.20)
47.70 (45.83)
43.62 (41.56)
41.44 (39.28)

o,lum] (o,/?)
6.57
10.83 (8.61)
10.49 (8.17)
11.33(9.23)
18.14 (16.94)
10.80 (8.56)
14.22 (12.63)
10.83 (8.61)

(1) a0, 00| SR DRELELIAELY, (2) BLB2[FAL-ABELERTRERE(FTAELY,



WG REDELE (2)

QODKIEIZ0.1%DEEZTS X =L DREAMNDEL

1. BREWMA—DIZBEEZS525,
2. ABETIZAEILEREZSZ5,

3. FEDTEGDIRE (40.1%,-0.1%) 52 5, L,3=0.7m
(1) Al (1) A1’ (1”) A1”
M B betax L4 M betax 14 B botax
13 7| mpetay 1.3 {7 | ®betay 13 | mbetay
12 -
g_l.l :

Oy, Qo SR DRETFENLTELY,



AB/B

45
40
35

30 7

25
20
15
10

(1)

Al

ﬁ%iﬁnnﬁd)ﬁv = (3)

QADKIEIZ1%DIRETS A T-LEDREED L

1. REMBE—DOIZREZEZ5,
2. ABETICRILRERS525,
1%, -1%) %52 5%,

H betax
B betay

3. FEDTELBERE(+

a
=
=

—_— — — — — — — —

T
I+|
) 0
1—&)(\]
O g O

— 1 T S
el T T - T
O« (Vi 2 o
o0 wH T 7
o By

L

Blld. ALICLERTERENE

(4) B1

|—] MEbetax
B betay

AB/B

—_— — — — — — — —

0 I
+I+l
X X
588
n v o ©
[« ACIY)

F[1%+], D[1%] |

F[1%-], D[1%+]



AB/B

45
40
35
30
25
20
15
10

(1) A1

—_— — — — — — — —

ﬁziﬁ n/s%ODE/ = (4)

QADKIEIZ1%DIRETS A T-LEDREED L

1. &BHMA—DOIZREEZEZS,
2. 4ABETICRILREERZER S,

H petax
N betay

1 + 1
232
) ]
- g [s\]
O g O

l,, LL ll
T T T - T
X8 28 B3
o ¢ < v v e o
g O 4 M T 7
4o 4@ X X
< = =
~ TS

3. FEDTELLERE(+

B2(X. ALICLERTEREDHE

1%, -1

45
40
35
30
25
20
15
10

AB/B

1%)&x52%,

(4) B2

H betax

N betay
B8 —
T T T T T T T T
EEEEEEE
0w W o O~ o X
0 ag0gog0g O

F

458 2 T[1%+]

4E2T[1%] |ee——

F[1%+], D[1%-] |
F[1%-], D[1%+] |



